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* Answer ten questions,selecting fi
- frompart B

Ve questions from part A

and five questiong
_* Each questiqn carries 10 marks.
[Ny 7 | Part-g a
* Answer ﬁveguf?js;zﬂqns only. B . S S
(01) SR -
1) A 20% duty was charged for a computer imported to Sri Lanka by DAy
Rs-180000,
o Caleulate the amount of duty paid for the computer. L
5 If Rs. 1500 was spent when tragsporting the computer and after that i
5% profit is expecteq by the trader, fing the marked price of the ——
Computer. , =% U

percentages of income taxes which Sheu}d—bé_giveh_to—* g
. shown in the following table.

— Y

—+—————+—Income————— ﬁercentz;ge charged as tax
For the | st 400 000 f — TaXfree
| For the second Rs. 400 000 5% . |
| For the third Rs;»406;§}00 ’[' - 8% [
.

Find the Qélue of y when x =0
— Draw the graph of the abo
one unit along the x —

axis and 10-smal divisions as two units along
~ the y - axis. ” | : : l
) sing the graph.,, . = :
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{03) - .
a]  The cost of 8 pens and 5 erasers is Rs. 348. The cost of 4 pens is equal to
, — the cost of 12 eresers. Build up a pair of simultaneous equations by taking
P * the price of a pen as Rs. x and price of an eraser as Rs. y according to the
= - above data. : ‘
. By solving the above equations find the cost of ~a pen and an eraser
separately. I - ’
‘ . w— : 1
bl Solve; .8 3x+2{5 (4x-2)-x+ 3}29.
i 3x2-15x=0 E
(04)
aj Factorise.
; 1. ax -—ay—-x+y
j il. x2-13x + 40
| b) Find the value using the knowledge of factors; o X 857 - == X1.5°
El 5
1 Jc]  Solve; — 7 i ;
g 2x—3 3-2x
| (05) e ga s ) a—
' |a)  Without using the logarithmic tables,
‘: ————Simplify+— logr 24+ logsS=logs40 ——
i Sove gz oS B2 T
%lb) Copy ,the,.foﬂowing steps in to your answer seript and using the logarithmic
tables,
. 1. Fill'in the blanks in the index form
X = JTE2 XRBO4
— 10 ........... x 10 ........... 7
g — '= 10
- — . : — 3752 x 8.04
1. Simplify, using the logarithmic tables x = W—
| (06) 9 men working 8 hours a day can build 7-ofacertain building in 12 days. -
1. Find the number of man hours needed to build Z of the building.
(ii.  Give the remaining amount of work in man hours. .
: —1ui.Ifthree men left before completing the remaining work due to
sickness, find the number of criaysrgeeded for the others to finish the
""""" '~ remaining work by working 8 hours a day.
—iv.If the rest of men worked 12 hours a day to complete the remaining
work of the building find the number of days they needed to complete

| Mathematics kBjVIlk Mae Grade 10 (Part II}
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Part - B
s Answer five questions only.-
{07} a
i What is the common term of the number sequence <7 o o g wl 2 g mesinens ?
i Find the I2% term of the above number sequence. ‘
i, Is (+42) a term of this number sequence ? Give reasons.
b) Find the first three terms of the number sequence which common term
is 16 - 3n.
{08) Using a straight edge, a pair of compasses and a cm / mm scale 'and
showing the construction lines clearly,
i, construct the triangle ABC of which AB = 6.5 cm, ABC = 750 and AC= 8cm
ii. construct a perpendicular to the line AB from the peoint C and name the
mteréécdng point of the perpendicular and AB as B
1ii. ‘construct the locus of a moving point which is equidistant to the strajght
lines AB and AC and name the intersecting point of this locus and the above
perpendicular as O. i o '
v, construct,the circle with the centre © and the radius OP and write the length |
oftheradiws, o . . .
"{09) The given frequenc:y distribution shows the mformau:m about the number of

limes contained in one kilogram.

No.of 10 11 12 13 14 15
limes

No of 4 i ‘ 8 12 6 ' 3
kg's - g - N

Write the mode number of limes contained in one kilogram.

ii{. Express the number of kilograms which contained 12 or less than 12 hmes
7 asa fractlon of the total number of kﬂograms
iii. Find the mean number of limes contained in a kilogram to the nearest whole
number. -
iv. If the cost of 1 kg of lime is Rs. 210, find the cost of a lime.
Mathematics * Grade 10 (Part 1)
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Lt

(10)

In the triangle ABC, BX is drawn perpendicular—to—AC and €Y is
perpendicular to AB and BX = CY.

¥, 7,,7\C

i Copy the above diagram and complete it by inserting the given data.

i Provethat AABX= AACY
ii——Showthat ABE—=ACB—

_iv.If'the interescting point of BX an CY is O, prove that BOC is an isosceles triangle

f A
v.  IfBAC=70", find the value of OBC.

ay

——

b)

L

(12)—

»

~Write two - properties which a quadrilateral should ;;»ossess for it to be a

parallelogram.
ABCDEF is a regular hexagon which vertices A, B, C, D, Eand Flieona

_circle in order. AC and DF are joined. BN W |

Include the above datain a d1agram and prove that AC DF

Show that ACDF is a rectangle

-A-groupof students—ingrade 10-left their schoolat-5:00 am. for an

e . : 1
educational tour by bus. They travelled 2—2— hours at a uniform speed of

«’-t-Okmh1 and after that stayed 45 minutes for thelr breakfast. Finally they
" travelled another 90km at a uniform speed within 90 minutes and reached

the end of their journey.

Draw a distance - time graph for the above data
Find the distance from their school to the place where the students had

their breakfast.
Find the uniform speed they travelled by bus in the second part of the

journey.
At what time did they reach the end of the journey?
__Find the average speed of the bus.

MaLhemau;s o : S & Af
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Part - A

B e i |

Select the correct answer and fill in the blank. The Istapproximation of V11 is ;;

ek - (3.1/3.2/3.3
Simplify 22X
| g T |
* 'E . /
! ’
Write an algebrai;expression for the perimeter of the ' |
givén sector using 7 and r.
| 04 | Express B x =3 in index form and find the value of x. ;
|
. .
o
f What is the actual length represented by 3.5cm in a scale diagram which is E
]_' | drawn to the ratio 1:30000 ? !
|
-
Mathematics 2 Grade 10 (Part 1t
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I 08 | Write the set of positive igtegermsaﬁsﬁed%heirremﬂi 2x -3 &] 3 —1
| N ; :
> f7 . B ) : )
AT e B : ' 7 |

09 | Find the value of ‘a’in the given diagram
SRE L S

|
|
S S

¢ 10 ] How much interest does a man have topay in 3 months when r;loan of ’

) I Rs. 1000 is borrowed at a monthly simple interest rate of 3%,111__¢_———f——
. - |
SEain { B -
i ‘ o

o .
B RN |
= ’ : ! Find the suitable angles to congruent the above two triangles—in—_th%easeﬁ =T o
and-fitl in the blanks. : !
7; B s s i i s S s ) . I
N e s

L
! J ’
I3 — i e

1 (
I |
b B R I

13 1 Which term should be added to mae <2 — 19 x as 5 pegpc‘gt square ? 3

ST e

| |

i !

! ; .

,! f o |

|
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T = ‘
14 11f £ {2,3,5,7,11}and A’ ={3,7, findn (a)

B
If Rs. 200 has to be paid as quarterly rates for a

value at Rs. 20000. Find the percentage rate charge

i
i

house of assessed annual

d per annum.

i

/

16 | Write the equation of the straight line parallel to the straight ine 2y = 4x-1
which passes through the origin.
17 | Find the value of ‘a’ in the given diagram
td
- |
18 | How many hours are taken by a pump passing the water at a speed of
200mmin! to fill a cube shaped tank completely? The base area of the tank is
36m?2 ‘
i
|
19 | Pactorise  5x* - 125
i
Mathematics 4 Grade 10 (Part 1}

kalvi.lk


https://kalvi.lk

l . ii)

21 met

o __i;——;E‘éﬁthheJremr

wrallelogram ABCD is 59e

10?

,eirﬁit_hiparaﬂeleW
- find the value of h.

} 21 | ABCD is a parallelogram. If the areq of the
;

D
I trniangle ABC is 12cm2, find the area of the m e
) ) ! para_lelngr;;m ACDE j/ %/ﬁ/ 7( % i
i i . \ |
f - — T i
. — L [ <
he : Asleer S
N !
G = | | p— ! [
o 22 [fg=q 22,3,4.5 A={2,3.5 7Y B 1
[ I Fill in the blanks usmg suitable symbols T E
- i : 1} - ——— A !
| 1} B .... . e !
1 |
23 | Find the L.C.M. of <Xy, X* — xy and (y-x)2 {

ULTL Ul

araHelogram

the above quadrilaterals

2 A I is.aw N
7 S S L 18 S8 ar

o :! Tn @ | | I j;/ ra{
'

a and b only

b and ¢ only

ABCD is a rectangle. Find the perimeter of ABCD A

-8 1 } =
. Etm / { o
b I

Mathematics

Grade 10 (Part I} |

kalvi.lk


https://kalvi.lk

Part - B
Answer all questions on this paper itself. Each question carries 10 marks.
01} A man spends ~1- of his monthly salary on food, spends i— on education of
3 :
his children. : A
i What is the whole fraction that he spends on food and education?
= : 4 . '
1i. If he spends 3— of the remaining, on other expenses, find the fraction
of his salary he spends on other expenses.
1. What is the remaim'hg fraction of the salary ?
v. ) If the remaining amount of the salary is Rs. 5000, find the amount he
spends on other expenses.
N
et
\ ]
\./’/
02) Y B c
// 1m
A ¢ 15 m »D
The diagram illustrates a rectangular ground. Right angular sector of the
'd RS Te B
circle AOB is covered with flower plants. Ln = ;—QJ
i. Find the arc length of AB.
"ii.© Find the perimeter of ABCD which is not covered with flower plants
iii. Find the area of ABCD. \
right angled
iv. Instead of the above sector AOB, If flower plants are planted in a R |
triangular part with a base AO which is equal to the area of AOB.
Draw a sketch diagram related to the above information with the
measurements.
v. If Rs. 66500 is spent to cover the remaining part which is not covered
with flower plants with grass, find the amount of money to be spent to /)
cover 1m? of it. ‘A/.
LNy

Mathematics 6 Grade 10 {(Part I}
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03]  Piyal borrowed Rs. 80000 from a certain ﬁﬁafrcrai—msmmnonErW u’él‘* e

snnple mtereg rate. = B i . ‘ o -

| _ 1. Find the monthly sunple mterest rate if the institution calculates 1§ AT Sor e
. T ﬁlteﬁreg{mont}m

—Calculate-the interest that should be paid for the loan for a month.

If p1yal expects to settle the loan after 10 month,

1ii. wl‘fat is the total mterest should be paid?

_— T

iv. calculate the total amount he had to pay to be released from the Ioan.” o

v.  if the above ioan amount and the mterest should be paid in 10 equa}

monthly instalments, firrd the value of an irstalment. ' |

2 _ g " | (‘7

04} The follow;ng pie chart illustrates the number of studenfs who are doing art,|-

. dancing, music, drama and theatre. 7 \ 7 \

o) , ; :
k/ Dancing “

o
) A |
- ; ,_j“ = : e ‘ J N :
- . . |
Drama%' 7 ! - ‘
and theakf Music il AT J‘
B i
1 Find the angle of the sector which represents drama and theatre. »
ii. If two students are doing art, How many students are doing dancing? —
r = -
1ii. It is intended to take the students who are doing drama and theatre :
to watch a drama and each student should buy a ticket at Rs. 550/-, ‘ s
find the total amount of money to be collected from the students who ‘
———————are going towatch the drama. g A
i
{
|
Mathematics T Grade 10 (Part I} f
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a
. Find the probability of studeni who won’t waich the

v. Express the ratlo between the number of students who are domg art ’\ <

“and dancing in the simplest form.

05)

Matheraatics

The given Venn diagram represents 75apphcants who faced the G.C.E.

(O/L) examination in English and Mathematics only.

o All 30 students who have passed mathematics, passed English as well

o 12'students failed both subjeets — .
Include the above data in the Venn diagram and name the Siven se{S,

?

i “How many have passed English but failed mathematics®

If the set of students who have passed Mathematics is taken as Mand

s those who have

iil.
those who have passed English-is taken as E, expres
passed English only. in set notation.

iv. Show that the number of students who are ehgl‘ole to €

ntet- the A/ L

class by passmg mathematlcs does not exceed 50%

TN

_ Grade 10 (Part]) |

8
kalvi.lk


https://kalvi.lk

Date: ...... ! — AR

Education @

——_—
D
-

FHBD

N ey

Kalvilk



https://kalvi.lk

2025

11D & 6U61)I6BUT 61 (5 LIL| SH61T
SIJD 6 (PG6L 11 uEn TWITEuT
mrremmussrﬂggasrrm guﬂlg mg)g]w @bl‘!’:.lﬂﬂ)
QMPlEL6V 6U(GLILISSETT S, FLOLILD TS 6TTEm6uT.

S} TUL 01.01.2025

" D60 W6oT 6TLILITS S SHIeVHHSILO
Z00m app elpevLo 6710 eIGHLIL|SB6TTI6V
60T HS CIHM6ITE (IQULD.

TSI LITL RIS EHLO G Hevail HIieeTd S6r BHUg...

Whatsapp

! EEEEEEE oallavilk W) 075 287 1457



https://wa.me/message/KFPFYYR6FMFMP1

